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1. (a) wors RaReed OF OO M Chtexr ;. 1x3=3
Choose the COITECt answer of the 3
following :
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FOH© | e/

Root pressure is (ey, )
xylem / phloem / cOrtex.eloped in

(i) AR T Gogimy
e @R = ! Fe / w1

The rate of photosyni
. . ynthesi i
maximum in green / plye / red l? t1s
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) T gl gw T TAARE AW
RS iR/ FRee / 2R
Th?' hormone helps in ripening of
fruit js cytokinin / florigen /

ethylene,
@ ’ﬂﬁl 3% ’BW : | 1x2=2
ij In the blanks : '
0 b o gave TR 8B e
NSk T

Placeq i, 5 solution.

@ T ey SRS CIRT T |

Kran, is found in
plants.anatomy 1§ o

2. Y R .
P ® e ) : 3x3=9

Write Short Noteg o

@) w5 Reg o (any three) :

Role . W qﬁ@ ﬂ#
of Microglements in plant nutrition
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(1 3)

) Cres o 4 SR ShermR
Solar energy trapping pigments in plants

3. w g B T 7 TECC TR G i o
QT s 3 | AT ST 2 2+6+2=10
What do you mean by transpiration? Describe

the mechanism of opening and closing of
stomata during transpiration. What is the

significance of transpiration?

‘ 153 BN .

4. wrgegRee T © T TERRGRR
ot I S O "Reto aiftpesr
AN ' 2+8=10

; What do you mean by photophosphorylation?
Describe  briefly the Process of cyclic

f and non-cyclic photophosphorylation  in

| hotosynthesis: -
PhotosyB™" awar/0r
AERRCET ST ﬁm Rege fRawt fa 10
plaborate  the UERt  reaction  in
photosyntheSiS~

%3l /Or

mﬁmﬁamemﬂmﬁm: £45-10

Write short notes on the following ;

(@) Fe&aw CErRA! i
' Symbiotic nitrogen f:lx.ation

AR T
Photorespiration
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S. Wﬁ: Cﬁﬂ b1 % {m? %‘@W ‘:[ﬁt'j W Paper:GE"2 (B)
.Whai’ﬁﬂ .‘f'“ N N 1+6=7 Enviro mnental Biotechnology )
in l:ulls macronyutrient?. Deséribe their roles (En .
1 plant nutrito, 1. oo RaReRd 9% waq A SFie . .1x5=5
) f ing -
' _ &2 /Or Choose the correct answer of the following :
@WR: W ez T R (@ crcT@@ T
Menti @W Romer 41 | 7 CFCs are used &
aﬁar;‘flonmg the egsential elements in plants, 0 f2pret
clem - the jp of micronutrient . cants
elements, portance refriger
6. (i) T .
. R S . tor
- ™ G v (R i );3 12 msulammq
X3= eos ]
i . (i) llant
(@) %C ’ﬂicln (iv) ¢ pe above
(b) Cet of photoperiodis™ ' et Gl
3
h OR® g syl LEil 3[313 (b) g AT .ﬂ«; caused by
Ysiologje al effects Of Water deficit in Air pouunonl
0wy § "
c .
. i?w m’m‘ W sewage
le . ..
(d) % .Ofmtr()gen in plel.li'l-t . (i) W
% Sy - A pesticid®
( e) a)%, . Of enmne ' loudSPe
l:‘l'ﬁ’smt)lysis, @) ﬂ,?/ e
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9 [
Environment »mbl F900 T
I- 4 is derived from
The word tenvironment 1S
the French word
) enviromen
(i) envig
(ifi) environmer
) ¢ gire

None of the above

o SR

. con
- The Water (Preventio

(e)
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o e and Control of

ted in
. as enac
Pollution) At iy India W

1] 5§bom
1980

(ll) ddbe | =]
1985

(i) 319 Wy
1977

(iv) Sdasg m
1974

(7)

’ W-'TF{W
' RIS,

dioxide, carbon monoxide
ur
sulph

2x4=8
2. oo ey il -

briefly ¢ 7
o l sm:aen'tal awareness?
(a) ﬁﬁa“ environm

—l o
(b) o & sources of pollution?
. the

! Sevo
’ .

3T t Conservatlon Act’ 1980
® he Fores o CTARN Barey

© Mouse efft o

(d)
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|

Wl.‘ite about the causes of air pOHUtiOn and
evil effects of ajr pollution.
%31/ Or
T vt e Ry oA 4|
Discuss about \armada Bachao Andolan’
S R TR e el LIS T
ToE v ‘ 6
Write on n-Governmental

. the rgle of no
Ol'ganlsatiOns in protecting environmmt.

w1%q1/ Or
R q fAEEt

Discugg how environmental ponution can be
controlleq by, Plants

6.
W.WW%WWWW' 8
Dlscuss s of sustainable
developmentut the measure

R AR,

X B gy R 4x2=8
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